國立嘉義大學九十八學年度

土木與水資源工程學系碩士班招生考試試題

科目：工程數學
說明：如條件不足，請自行假設。
1. Solve the following ordinary differential equation: (20%)
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2. Use the convolution theorem to find the inverse h(t) of: (20%)
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Note: Convolution theorem: 
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3. A=
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, calculate A-1 using the Cayley-Hamilton theorem. (20%) 
4. Solve the general solution of the ordinary equation, using Fourier series of f(t) for solving the particular solution (
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 is a periodic function): (20%)
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5. 
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, calculate 
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 using Stoke’s theorem, where S is the half upper surface of the sphere x2+y2+z2=1 
(0≦z≦1). (20%)
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